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ID: I
Geomet ry l -Mr .C.

Practice - Q2 Week 2

Solve each proportion.

l )
5 7

8 r

1 0 2
2  b - 8

Name

Date Period

6)

8)

3)

s)

7)

4)

t4)

8 6
n - 4  7

8 2

v + 2  7
^ a
Z J

a + l  a

9  v + 3

7 '  v - 6

x - 3  x - 7e ) _' 2 6 l0 )

n + 3  n - l
l  l )  _'  

l 0  3

State if the two triangles are congruent.

,r,y___l 
A\ I / \\ r  /  t

V /  \

5 8
12) -

x * 6  x - 7

If they are, state how you know.

"'vN



Answers to Practice - Q2 Week 2 (ID: l)

1 )

s)
e)

2)

6)

10)

r4)
l 8 )

3)

7)

4)

8)

1421
i 5 J
{:o }

r20 l
Irj
{ze}

f 75 l
\ ,  I
ASA
SAS

f 5 6 l
irj
(26)

irj
{ r }

f 4 0 l
iTJ
f  r )
i - r  i

", {,rt}
ls)  ASA

'', {-+}
16) sss13) AAS

17) Not congruent


